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A 1tidy 2 safe 3 to sit 4 to take
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B 1tomake 2 comfortable 3 spicy
4 X 5 to say
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5 to sleep
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2 roaring 3 discuss 4 score
5 sell
B 1 X, draw[drawing] 20
3 X, talk[talking] 40O 5 X, make

C 1 flylflying] 2 falllfalling] 3 run

4 scream|[screaming] 5 keeplwrite]
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A 1 watched his friends fix[fixing]

2 advised me to drink

3 made him appear

4 wanted her daughter to receive

5 listened to her favorite song play[playing]

1 Many people consider Einstein a genius.

2 | felt my feet hurt during the marathon.

3 The strong winds made the kite fly wildly.

4 Our uncle let us stay at his condo for free.

5 Bill asked his girlfriend to meet him at the theater.
1 (MIAIZ2) the dishes in the sink dirty

2 (G A2t the boy surprised

3 (O AIERH) the students to clean the classroom

4 (Ol NEH her to study hard
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01® 02® 03® 04® 05®

06 @ 07 ® 08 ® 09 forced me to sleep
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13 coughed — coughlcoughing] 14 @

10 let me wear

15 I want my family to eat cereal for breakfast.

16 His strong punches made him a successful boxer.
17@,® 18® 190,® 200

21 made himsick  22® 23®

24 Jane to lend 25®@ 26 ®

27 | expect my friends and me to do well on the exam.
28 the boy clever 29 (D 30@
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A 1 worked 2 Have you worn
3 has not seen 4 has played
5 went
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5 have fought
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(8) Have you (ever) drawn
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A 1 May 2 can 3 can 4 will
5 will
B 1be 2 affect 3beeasy  4willyou
5can
C 1 Can[Will / Could / Would] 2 Can 3 will
4 Can[May] 5 may[might]
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A 1 study 2 should we 3 had better
4 don’t have to 5 had better not
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5 to wear
C 1 must 2haveto 3 should[must]

4 don’t have[need] to 5 had better not
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2 may win

4 had better not let

A 1 don’t have to stop

3 can speak
5 will look after
B 1 Will you give 2 Do | have to pay
3 should turn off 4 must leave home
5 may release a new book
C (1) (OIAIERH Will you join us?
(2) (O AIE2t) What should | bring?
(3) CGIIAIEF2 you should bring your lunch box
(4) (O A|Ef2H) Can you bring your camera?
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(4) don’t have to (5) had better (6) may
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05 had not better — had better not 06 ®
07 ® 08 ® 09 ®

10 Stuart has to buy school supplies.

11 The tornado may not head this way.

12 Should | apologize to Anthony for my mistake?
130 14 ® 15®@ 16® 17 @
18®@ 19® 20 210 220,®
23 Kate doesn’t have to worry about the test result.
24 We had better get to the airport soon.

25 I might be late for my appointment with my friend.
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27 ® 28 This app is worth downloading.

29 | solved the problem by calling the repairman.

30 She forgot to thank him for helping her.
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12 whichlthat] 13 where 14 @
16 whichlthat] played with a ball

04 ® 05®

18 who(m)[that] we met in New York
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216 22 who, that

23 Today is the day on which we are going to the
water park.

24 The artist talked about the way in which she found
ideas for paintings.

250 26, 270

300,

280 290,®




01

02

03

04

05

06

07

08

09

10

(K

5.’_f01| whlch[that] % 710
OI0|E2 SAIFES 2B U=7
At (many friends)E MEALZ dt= 554
B2 gIZ1fl&= who(m)[that]7H 01710k StCE
KevinOl|Al= 2174 S0 2 EltS0] -t
MeAHanything)7t -things 28t8t 4
S 20

=2

SES HH] floh L7
[==]
H

[zl
!
="‘.=
_>,:
10
>
il
=)

= FE£ that

ArEES
2H(a little gir)s MaALZ 5}% 4 BAHALS] Xp2[0]12
2 BIZt0]= wholthat]7t E0{710F SHCE,
L= X50] =2 HE AR oI
« Af(the main character)g MEAIZ dt= 54
9| Xt2|0|22 BIZtol= who(m)[that]7t £0{7t0F §H
Z1= O] Z0i| M L7} 71 Z0fsh= Q130]Ct.
®= AE(the strange man)& MAAIZ St= SHA 2ACHHAL
9| Xt2/0|22 who(m)[that]7t E0{7t21, LIHX|0lE
A CHEAF whoset S01710} BITt
® Sagen M= HHR WE 7RI =2 =
@M Al dHo| J20jds 2
® U= 80| XASA LA 7t =
@ Edwing SMS0] St FEdh= 217] U= HMHO|AI,
® FAR= J7FAREIOIA 2 =2t GRS M2t §
the waye= HASEA how?] MEYAL
Of BHL}.
OHU= 0 |E AN E A dEs dn %'Ef.
A HBEAL what2 “.J%”A
thing(s) thatlwhich]22
Andy= 17t O] A01M %% WS LA 23HC
@ — whichl[that]
AFE(my notebook)S MM Sh= SX A BA AL X12(0]
82 whatg whichlthat]2 X0} &t}
LH7F SO 8 I 34 L SRS RHL? L 23s & 71 8l
Z0E 2L ©OQEGY that2 2X2Z BAEA|L, @Y
that2 =2 ZAHALOICY,
L= Lto] OfH{LIZH OfA| LiA| 24l BAIS SIOTHFACE
© 2 U7H2 2119 F&tolCt,
@O0|A2 U7t TFE 2
Sal= 7L ADIEEC = HASHEZES0|E AUt
@ = MEZAIATO| U= THEH0H| 7127 HOq SHT.
® L= W7H4E S0t 2 Y715 HE0l| 2Rei,
® have — has
4 HAUBAIES] SAks M| QIF Dt 20 YR
StE2 haveE 3Q18 H23 has2 1IA0F SiCh
O AR Zik= W7t 7|EH3 Ao|ct,

A}
EA AL
=

o
2% 497

o SoH R Rz

o

®gs [ﬁ o EP‘ 2 Z7 EO0IRX| =Lt
® U= SN AlSS TIRE S 7|Yot?
S A AL who(m), which, that2 A42F 7H551Tt

12

13

14

15

16

17

18

19

20

(@ AtZH= DerekO| HenryOi|A| 14 Z40]CH,
(MBALS LEGH= BATHHAD
@ LoiHl= S0HE iR U= €0l QUCE (2 BA AL
@ 0|42 Q17| Qi ¥t 150 DZOICt (2 A YA}
@ J= ol 4 A0l = L ALEOILE (AFZ BAUHAL
off 2t

® 2= K| EQYU0)| 7F 63|12 S0
AE(music)g MYALZ St= 4 LAWY S012 A2[0|2
2 HIZH0l= which(that]7F 25t

« Emma= S94S SUCL
< RS 57 S F0 47 2EIC
—Emmaz 17t §2 F1 o HE= 292 S
HA(the lake)E MEALZ Stz EARALS] Xt2[0|2
whereZt £0{7t0F &iCt
o L= &:00 2Tt

Li= J30IM A= L AR
— L= W71 X AEAE Ef
@ A MIAAZL 12 001X |= &

= MYAIE ZElotHM S0 g

whatO0| EOW P2t
At

|'>|
ru[m
rm
il

rlr
foi
4>
=2
)
il

l'||'

U2 2FES M= A0| KellyZt T1H| MEZR StuoflAf &

LOICY,
© U 0|RE LEIU= 2AFA why 7t S017t0F BHTF

U EHS2 7P 2B 22 2 0IRE OlolishK| 23U
@2 who= SIZUHEAIZ M2A00, LHA|= 25 ZAHEA
UL,

@ 3= 30122 HE 7|19= W OIR0IT
@d= cf EetH A =

®I1s2MEds
@ Karen2 JUE 2/ U=E HA EF1E BBl

MEA (the dolphln)7} S0/ HAME LoiA =0 des &

A HHA HRBI2 2 which[that]E 0|25 XS 2SIt

ML QB E NHYAS Hekot= BAWHAL whatO|Lt the

thing(s) thatlwhich]E 0|8df A 2HASICE

MatAKthe businessman)7t AFZH0| T ZEAAE LHOIM SX0 &
=

SHA
S g HANHAZL HRSIERE who(m)[that]E 0186 2%
A
o

A how?] MAlAIZ, E & Stti= BHEA| 2k
WE in whichZ HHY £ 4= QLY.
iD}E%% AHS0] Al U413 HHY 2T
SXZA BAUHA who(m), which, thatdt M8ALZ} 242 the
place, the time, the reason@! A EAt where, when, why= A4
2f 7ksoltt
@J)RR E72 588 (32 BAUHEAL
© 0|22 L7t Ofd EHﬁE% HAEotE FAO0|CH (ASAD
© 1z 149 281 ¢
2 HAEAD
@ L= 0|mY Thl (
©® Lizzy= 247 XP7| H0l| 12 o= U= MS F H AL
(FXZ BAUBZAD

i R

HAIS HE S 7]l

AQY JOMSUY ccccccccccss



21 Mt the model® 22201 the model'sS CiME = U= AR
4 HAUEAL whoseE 0183l FAFe 4= QICtH ARZ HAHAL
whose= =gt 4~ giCt.

22 A-ATE AR~ (my classmate)0| ! BHAARE LH01|A1 =0 9gs
& HA YA ERBIE R wholthat]7H YHT
Jessica= MO|RL= O|0F7|E Sh= LQ| Bt E?OIEL

23  AIZHS UEE BARA when atlon / in / during] which2
HHY £ = QIC} M3Althe day)7t EF5H S 20jsl22 MX|
At= ons 0.
=2 227t M30| 7h= 0|0t

24 S LEHEE 2ARAL how CHAL the way (in which)S £ 2
ALt
M&7k= Z2E7t 1=0i| THEt OFOITI0E &2 Lo Thal 34T

25 =7 BAUYA that0] MBARRI The studentsE 4lok= X
7t =|0{0F SIE2 2S Q1o S SMUIZ HiSESHH The students
that finished their P.E. lesson were thirsty.7} EIC},

26  SYAZEAR—(my cousin)O| L HAAE LHO SX0{7} gleb =
X2 BAH WA who(m)[that]7F A0[ 7L M= SE7F LIt

27 MEAZ}the place@! HAEA where= 4= 7+

SR8 A7 ARE X2 W7} O3 H 2t < T2,

28 M&lAbmy old friend2] AR24Q1 hisS IS & U= 2[4 &
HHHA whoseE O 8aH HHY & == QUL
Ltz Lo @l 7 E W31 T 7IES2 IS HINFICH
— L= 715 50| 0§12 gHofst Lo @ TS L3N0t

29 ~ot= 0l2k= 0|9 ZANHA what "M3AF + EAHCHHAL,
9| H&tS SO 2 the thing(s) that[which] 22 HHY £ 4= UCH
71 M240] 0] EXl= 2HoflA BQst Ao|Tt,

30 AtZ(a new movie)g *.JG”ALE_ Sh= 4 HABEALL] Xj2(0|12
2 whichlthat] 7t &gt
Tashae #+H35|0{2E | CHEH M HEHE Sit

CHAPTER 08 TZAIR} O|ZAL

UNIT01 RS ESESIN T RS et g BN
7"‘x‘®=uh| p-103
A 1and 2 and 3 but 4 or
5 but
B 1nor 2 were 3 shoot 4 excited
5 X
C 1 Wear, and 2 not only, but also
3 Leave now, or 4 If, don’t fix
B
A 1Tony= 12|A2 S AU
2 A2 ek At 41 T
3 Mia= 22|5k= AS Z0t6HX|2E AHX|Sh= A2 Z015HK|
r=rnt

4 = M EL OFsis 25t A0 S
OF AR A

5 Lucase= SF0l 24X

NGNS
2 Lto] Lot Qb = Cf ANS H2 S0 OFUCE

=
3 YEHS2 O|ROIA AFES BALL HIH RS 2T
O

=
HLIX| 28 HiE 2412 2 Ws HMS &

3 2ef U7t Xz
0ff 2t0F A= A0ILt.
— Az HLat, JZX| G2H U 2412 S s NS &
Off 2t A= AO|Lt.

4 | ZREIS DA, DA QO8N L4 2 49 RE TS

%4g Zolct,
— Bio} L7} 1| ZREIS DAIK| QO LiE 2 142 RE It
ag 9 2o,

A EEAL

x
7|_.— @:I‘I Il

A

B

EL)

A

p.105
1 When 2 Unless 3 fix 4 Though
5 because
1 since 2 since 31f 4 Until
5 While
1 so, that 2 so, that, cannot[can’t]
3 so that 4 in order that

1 71Z7t =2fstal =
2 U7t LindaE A2{olX] Y0, 1= 23 =3oHA| §42

Z0|Lt.

3 U9 AEHE 1T =0 2 Wt AEAHE EfAL

4 HIE H7E 210 UM
5 Benton M= LIS HO| OIMAM &3 & 4= Qi
135 FAR SAE LUE TS 20| 20| AL,

A2t 22j= SHOUA 0FZE ST,

—~ 24 02 0| MM R4S 4
2 M7} O OF FORA Q21 Lizt 47} Tk,
3 Ken B717} £17] QI3Al CHSI0IA] O] BRYC,
492 o

AL T&AL

x
7|_.— @:I‘I Il

A

p.107

1 E0f 2 30 3550
5 SH0



B 1that 2 That 3 that
5 iflwhether]

C 1 iflwhether] there is
3 how the bird got

oA

4 whether

2 iffwhether] Anna is
4 who left this gift

A 1 2Hxe= 2200 =0] A2 gilh= Z0|Ct,
2 Tyler7} DaisyE Z£0t5t= A2 250 =22 Lol
Lt= Julied SA218 E0ME JUE7E HAES ot UsX|
OfHX| 2Lt
4 X W A T9| MoHS0| HETHoIC)
5 Zac2 ?2[2F 274 HrEol Z
C 1 le=F 220 8o £20] 2L?

St R

— S0l F30]

2 WA 2ol F. Annas B2 B9 A4L)?

— AnnaZt &2 Me|2f AL QIX| LA &olf #.
3 L= RU? OEAH AM7E L Holl S0RtU?

— U= M7t L "ol O EAH S0R=A] U2
Li 2501 FL?

BEX Ues &2 2270

4 UHEOtL? =70l M=22
— U= W M0 571 0] M=2& FeAl ofY?

p.108

A 1 1don’t know if Brenda is coming to visit you.
2 Sophie believes that children need love and support.
3 Those flowers are not morning glories but lilies.
4 Both my father and (my) mother are working at the
airport.
5The small bookstore has neither magazines nor
cookbooks.
B 1 He will look for a job after he graduates.
2 Use the map app, and you’ll find the station easily.
3 Let me show you what Daniel brought from the
Philippines.
4 The action movie is so thrilling that Jim’s heart is
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18@ 19® 20®

21 not only vitamins but also calcium 22 so that

23 Canoeing is so fun that he does it every week.
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3 amazed 4 few

1 alittle

5 afew

2 amazing

1 That CEO is a respected woman.

2 The shocked girl could not speak or move.

3 Did you see anyone strange near the house?

4 All the TV channels are showing nothing interesting.
5 The sun appearing over the horizon was so beautiful.
1 much(a lot of / lots of]

2 manyla lot of / lots of]

3 three slices of, alone] glass of

4 two bars of, four bottles of, a[one] kilo of

(1) a few minutes (2) disappointed
(3) many people waiting  (4) something sweet
(5) alone] piece of strawberry cake

(6) alone] can of soda (7) drank little soda

(8) surprised

w
oy
(&)
o
rlo
e}
N
41
=
R
10
3
0g
=2
i
i
]

01 20]12 22|17k A2l gict.

5L= =0] & AN L7t OfF Z0toks FatE2 ZAHE
E RS

1 U= Kol =0] §#L?

2 Ameliae 1142 2T S Lz 7|5 TO| 7FK|LT ULt

3 Leo‘— ik M| XZ2HF L SF X o

4 7tE OO HI= = 2H, = Ul
lang 2= Ot 7|xt0)|

SHOL 2 e AR,

N
2
o

F1Z27+ 0
¥ 2 X0IZ2 7|XHE
FRIE S2gt=, 71X
= M 7|XE
0 AHACE TIM
MLt = A0S

7IRtE Z1ttE]

|—_|
rl_r
=
1o
>
u
i
o
o
$0
_lj!_

A 2l
2 ATL7ICHHCE O 983 20712 o
s ES: 2

7| A 0|3 &t XZtu} ERAS 2 S 7H

Ch HAX|DF EME R = 2| OFAIX] 2UCE 3082 FOll 7|XH7t
EAICE = AJZHO] | X|LEZEA SR

p.122
01® 023 03® 04® 050,®
06®,® 070 08®
09 chocolates — chocolate 100 1M1
12@ 13®@ 143 15 wholthat] is
16 much 17 ®@ 18® 19® 20O
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28 | met my neighbor and her dog that were taking a walk.
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4 possible  5as
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A 1 thinner 2in 3 best
4 more convenient 5 closer
B 1than 2 scariest 3 theworst 4 more tired
5 X
C 1 more caring 2 louder 3 hottest
4 better 5 farthest[furthest]
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A 1 cooler 250 3 and 4 cook

5 museum
B 1 higher, farther[further] 2 closer, closer

3 more, more 4 more, better
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A 1 the brightest

3 Fewer and fewer

2 as endless as
4 the less stressful

5 longer than



B 1 No (other) drama series is as[so] thrilling as that.
2 Hugh’s cat is the cutest cat of them all.
3 That pill is more effective than any other pill[all the
other pills].
4 No (other) photographer is more sensitive than Andy
Rouse.
5 The parrot will repeat what you say as long as you are
near it.
C 1 aspopularas 2 more popular than
3 more popular than 4 as[so] popular
D (1) as close as possible
(2) as[so] cloudy as
(3) better than
(4) the most enthusiastic
(5) better than all the other baseball teams
(6) stronger and stronger
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06 ® 07 more impressive than

08 the most popular sport 09® 100,®
1M1Q 120 130 14 as[so] light as
160f~in17®,® 18®
19 as long as it doesn’t rain[isn’t rainy[raining]]

20 swimming deeper and deeper21 @ 22

15 more slowly

23 The higher she jumped, the better she could see
over the wall.

24® 250 260, ®

27 I will help you as long as you need me.

28 The wind is blowing harder and harder.
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5 is donated
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A 1 was the pen 2 was 3 not be
4L wasnot  5be

B 1 X, will be recorded 20
3 X, the homework finished
40O 5 X, may be replaced

C 1 was caused 2 was not baked
3 will be watched

5is used

4 can be seen
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1 Was the power button pushed by her?
2 My friends think | resemble my mother.
3 The patient shouldn’t be given the wrong medicine.
4 The math teacher is respected by many students.
5 The concert pictures were shown to Susan by Douglas.
1 Basketball will be played by some boys.
2 Anna was given an award by the school.
E= An award was given to Anna by the school.
3 The traffic sign was not[wasn’t] seen by Michael.
4 These small clothes can be worn by a baby.
5 Was the computer program installed (by them)?
1 is carried by Max
2 is taken by Tom
3 is painted by the[Tom’s] sister
4 is prepared by the[Tom’s] mother
5 is used by the[Tom’s] father
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10 was not wanted 11 @ 12® 130

14 The mobile app is used by many people.

15 Is the truck driven by Bill? 16 D 17 @
18 19 are caught by us

20 wasn’t heard by Mark 21® 22®
23 When will the next meeting be held? 24 ®

25 This national park is visited by many tourists every

year.

26 Photos of the performance cannot[can’t] be taken

by the audience.

27 How is electricity produced and used? 28 @
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1 would 2 was 3 need 4 is

1 saw[had seen] 2 covers 3 would live
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C 1 both
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A 1 not always 2 is totally unbelievable

3 did achieve his dream 4 need oxygen to breathe
5 one of the healthiest vegetables
B 1 You'd better start it this very minute.
2 Not all (of) the students were[Not every student was]

tired after the field trip.

3 The book said that light travels faster than sound.
4 It is every New Year's Day that[when] Landon sees the
sunrise.
5 He prepared well because he wanted to win the
contest.
C 1 doesn’t always 2 studies English
3 neither of them 4 itis, that[when]
D (1) not all of them

(3) invented pizza

(2) was invented

(4) it was a baker Raffaele Esposito of Naples that[who]

(5) was created
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01® 02® 03® 04 @ 05®
06 ® 07 none of 08 Not both
09 ® 10® 11O 12®

13 acity in the United States 14 Japan is an island



15 couldn’t —~could 16 O,® 17D, @ 18®

19 @ 20

21 They found that he had a talent for music.

22 Ashley, the tallest girl in our class, wants to
become a fashion model.

23 Fiona did pass the exam last year.
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26 Not every tourist enjoyed the trip.

27 His life did not[didn’t] always flow smoothly.
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A 1alone 2 to sit 3 nice 4 to wear
5towatch 6 strong
B 1 to calllphone] 2 to stay
3 to lose[reduce] 4 hero 5 warm

6 slow

[ 1 Did you find the test easy?
2 Anne always keeps her room clean.
3 He allowed me to use his cell phone.

4 Her parents don’t want her to meet him.
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‘ A 1has 2 was 3 read
4 have you lived 5 haven’t 6 known
7 had 8 eaten
B 1 met 2 lost 3 visited 4L X
5 hastaken 6 Has 7 have 8 worked
L 1hasn’tdone 2 Have you, raised
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3 have they studied 4 has sent
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1 yet

3A% 4
7 2= 8
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2 never 3 gone 4 ever
7 for

2 have gone to

5 already 6 since
1 have lost

3 has played, since
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B 1ltsnows 2t lying 3 it take 4 1t, to doltry]
o 5l1tis 6 It seems that
‘ —;E%AI' - L 1 Itis[it's] already dark outside.
2 It is[It’s] safe to wear a helmet.
N =SAF 1 p-.06 3 It seems that you arelyou’re] busy these days.
a 1wil 2 can 3 may 4 may 4 It is[It’s] necessary to think positively.
5 won’t EX))
B 1wil 2 May 3 will 4 may A 1XZZAL?
5 may 6 Will 2 042 BY =2t A40|C
L 1 Dinner will be ready soon. 3 MXI7|E ot= A2 EX| &t
2 She may not be in the hospital. 4 NMHAZ 30:20] 20
3 Would you please open the door? 5 4ot M AAE &7 SHAf Of ELY,
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A 1 had better 2 must not 3 new ones 4 Many of the men
3 shouldn’t 4 had to EE)
5 doesn’t have to 6 don’t need to A 1L IY0ol= d2M 1fo|ct
7 should 2 0t0| AT R & HZay?
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7 don’t have to
L 1 must[should] drive
3 don’t have[need] to tell
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8 doesn’t have to
2 had better drink

4 had better not use
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A

3 members 4 don’t
7 others

1 need 2 room
5 the others 6 the other
1is 2 Every 3are

5 others

8 another

4 Each

6 another

1 All the seats are empty.

2 Both of the sandwiches smell good.

3 Each country has its own traditions.

4 (There are two cars.) One is clean, but the other is

dirty.
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A

1 myself 2 ourselves 3 himself 4 themselves
5 herself 6 himself 7 itself 8 yourself

1 X 20 30 40O

50 6 X 70 8 X

1 Help yourself to the cookies.
2 I like to watch movies by myself.

3 Did you enjoy yourself at the school festival?
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CHAPTER 05 RGN
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A

m
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A

1 of 2to be 3 how to 4 not to sell
5is 6 for
1 what to 2 To use 3 of him 4 for parents

5 who(m)to 6 not to
1 Please tell me when to stop.
L= Tell me when to stop, please.
2 It is[It’s] brave of you to do such a thing.
3 Itis[It’s] impossible for me to finish it alone.

4 She promised never to tell lies again.
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A 1% 2 5ol 3 Yst= A EY
4 O[5i3L7|0 5 HE 6 Ot
B 1Tasto 2 to stop 3orderto  4tohear

5to learn 6 to sit on

[ 1 tobecome a famous actress
2 so0 as not to wake up their baby[wake their baby up]
3 in order to please him

4 to live in after the wedding
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A 1too 2to 3 can’t 4 50
550 6 to 7 rich enough8 could
B 1 noisy 2 young 3 sweet 4 cold
5 clear 6 tall 7 large 8 difficult

C 11t was so bright that | could not[couldn’t] open my
eyes.
2 Judy was so tired that she could not[couldn’t] talk with
her parents.
3 It’s so warm that | can take a walk today.
4 My brother is so brave that he can ride the roller

coaster.
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A 1inviting 2 taking 3 meeting 4 going
5 exercising 6 not telling 7 arriving 8 protects
B 1 reading 2 watching[to watch]
3 Thinking[To think] 4 Driving[To drive]
5 using 6 shopping
7 Washing[To wash]
[ 1 Areyou interested in making a movie?

EE)

A

2 Joan is good at taking care of babies.
3 I'm looking forward to seeing you again.

4 They are busy preparing for the performance.
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A

1 to keep 2 to leave 3 eating 4 writing
5 catching 6 dancing  7tospend 8toopen

1 playing 2 learninglto learn] 3 hitting
L totravel 5 making[to make] 6 seeing
7 using



[ 1 The boy refused to answer.
2 We finished painting the fence.
3 My mom decided to drink less coffee.

4 Remember to pay electricity bill tomorrow.
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A 1 which 2 which 3 who 4 who
5 whom 6 whose 7 which 8 whom
B 1 which 2 who 3who(m) 4 whose
5 which 6 which 7 who 8 whose

L 11 bought a blouse which has frills.
2 | have an aunt who lives in Mexico.
3 Monica sat next to the boy whose hair was brown.

4 Do you remember the people who(m) we met in

Vietnam?
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A

EE)

A

1 what 2 what
5 which, that 6 What

8 who, whom, that

3 which, that 4 What
7 who, that

1 which 2 the thing that[which] 3 which
4 which 5 who 6 The thing that[which]
7 who(m) 8 who

1 Ella is the girl who(m)[that] I'm waiting for.

2 The cell phone whichlthat] | lost was very expensive.

3 Look at these pictures which[that] we took yesterday.
4 The singer who(m)lthat] | saw at the concert was very

beautiful.
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A
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A

m

1 when 2 why 3 where 4 how
5 when 6 why 7 where 8 how
1 where 2 when 3 when 4 when
5 why 6 how 7 why 8 where

1 Tell me how you arrived there early.

2 | cannot forget the day when | first met David.

3 This is (the place) where he spends most of his time.

4 1 don’t know (the reason) why Ben hates playing on
the beach.
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A 1but 2 nor 3 and 4 either
5or 6 don’t

B 1 neither 2or 3 either 4 but

5 Both 6 and
[ 1 aswell as pretty 2 Unless, dry, will catch

3 If, leave, will be 4 If, don’t take, will get
€5
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1 Since 21f 3 after 4 when

5 Although 6 in order that

11f 2 Unless 3so,that 4 untilltilll
5 as soon as

1 You had better come back before it gets dark.

I = Before it gets dark, you had better come back.

2 My sister swims every day so that she can stay
healthy.

3 As | was taking a shower, | couldn’t answer the phone.
L= | couldn’t answer the phone as | was taking a
shower.

4 Though he isn’t Korean, he knows a lot about Korean
culture. == He knows a lot about Korean culture,

though he isn’t Korean.
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A 1 That 2 who 3 what 4 if
5 that 6 whether 7 whether
B 1that 2 That 3 iflwhether] 4 why
5 whether 6 who 7 that
L 1 Let me know iflwhether] Kate is ready (or not).
= Let me know whether or not Kate is ready.

2 I’'m not sure where the bus stop is.

3 Who do you think will win the race?

4 | wonder iflwhether] Stephen will come to the party (or
not). === | wonder whether or not Stephen will come
to the party.
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A

1T much 2 many 3acupof 4 new things
5 slices 6 Few 7 something special

1 much 2 Something serious

3 anything usefullhelpful] 4 cans of

5 little 6 lots of

7 a little

C

oA

A

1 nothing wrong with this computer
2 someone strange near my house
3 a little money to buy sneakers

4 there are few tall buildings
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A

EX)

A

2 filled 4 interested

6 exciting

1 tired

5 amazed

3 playing
7 disappointing
8 sleeping baby

1 flying 2 surprised 3 shocked 4 closed
5 made 6 excited 7 wearing 8 interesting
1 My father was fixing the broken chair.

2 The girl crying for joy is my best friend.
3 We watched the surprising news on TV.

4 The play was boring, so we were disappointed by it.

1 L= ol Le & 2 27Utk

2 L= MEL2E 7HS T HAE 0 AL

3 7|EtE Aot s 22 HarrisonO|L.
4 HE of= UiE71e0 20l AY?

5152 19 o Ao s3T

6 Ltz 250 S0|TIXE A0]2t2L 7|THEtT

7 M M AE A2 R,

8 1= ZHAEA YA 01718 2222 HHEZA 2{0)] U
EENE)

40| 0r20l= 2 22 780

5 L] AALjofl 2|5 S 0IT TjXt=

6152 4R S25M 285 & & QUL

7 AR MS2HAE 22 o

8 Lisaz i< X{O|U= A
H Q= 78 =0t5ict,

M A=z S =

u

fOl01M 149] F41E2 et &

0

7189 =28 &2
3 Re= TVUHA =22 728 H.
0| XM 22l= 20| 23U

Y LAY 41

A9y Joamsuy



. 5 &= 0] EAINA 7t S 5t22 SEH HERICH
CHAPTER 10 [F:lim] ) cEmme sl
: 6 1 ANE2 X|HF: AIFECH =M O {24 SCt

7 d= 2= e DX 2 OME0E O A A0 SUC

2= = 8 L= OfA| SHiEHOA STl AlZkS HRCH L QoA 7hEr o
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3 O 122 L 223 HIMX] It : 5 city 6 stronger than
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747t Sels| Aok B L= E8R A2t 2+ AL 5 The more vegetables 6 the more slowly
8 O|R0IM A HRY2 XISHRHHLE HX| LTt 7 warmer, warmer
C 1 girl, as[so] thin 2 funnier than any, movie
; 3 higher than, other mountains
HlwZat zlds P74 4 No pianist, is better
A 1 higher 2 louder 3 better 4in A
5 most 6 much 7 later 8 the happiest A 10{H=2C X|EIOHE W2 K| QY.
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3 What is the most popular sport in your country? 2 0| ¥3l7} 0|Z4E = 74&F MO|QICE
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CHAPTER 11 B

NN =S E[fCo| Ml Ol = HiH p.28
A 1has 2 causes 3is cleaned 4 washes
5is loved 6 are praised 7 is posted 8 is delivered
B 1 powered 2 spoken 3 invited 4 sold
5 grown 6 baked 7 read 8 locked

[ 1 Jessicais given some flowers by Joe
&= Some flowers are given to Jessica by Joe.
2 My mom waters the plants.
3 Many tourists visit this place.

4 Smartphones are used by lots of people these days.
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2 be fixed
5 was invented
8 was built

B 1 wasn’t hit

3 be touched 4 was not
6 not be

A 1wasn’t

7 was

2 Was, taken

3 Why were, cancel(l)ed 4 be done

a4

A

5 was stolen 6 will be cooked
7 was madelcreated]

1 Was the furniture designed by Sally?

2 When should the letter be sent by her?

3 The difficult problem can be solved by Mike.

4 The window was not[wasn’t] broken by my brother.
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A

1is, was 2 succeeded, will succeed 3 would
4 begins 5 fell bis 7 walks
8is

1 moved 2 X 3 bought 4 would
5 was 6 composed 7 catches 8 X

1 water boils at 100 degrees Celsius

2 he would wait for us
3 Columbus discovered America in 1492

4 the sunrises in the east
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1 all 2 that 31t
6 Not

2 never

4 when
7 scientist 8 movie
3 None

7 baseball player

5 doesn’t
1 always 4 Not every

5 actress 6 My uncle

C

A

1 It is Sally that[who] is good at knitting.
2 It was a wallet that[which] we found on the road.
3 It was Sarah thatlwho(m)] Jack gave a ring yesterday.

4 It was on Sunday that[when] David had an accident.
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